Addressing Debt and Saving at the Same Time

There is a lot of advice around about budgeting, debt reduction, and savings, and much of it is sound

and useful. What | find frustratingthough, is thata lotof itisconf |l i ct i ng..not contr
conflicting. I'n saving,younmeefldmdus smdnt rTa kies ytoa r*
top of your earnings and stash it in an account s
that way and you’ ||l make due with iwbsaeallygoutedasi s | ef

the means to keep ourselves from meddlingvith our savings Use payroll deduction or automatic
deposit and then you won’'t notice it or forget to
even Dblethink #he redlity of what people canand are doingis quite different. Depending on

where you find the datathe US national average saving rate is about 586income.

For Debt , the advice is often to “pay the debt v
| argest debt firgt " c,omamedctofitsen ot Hgpagydderhe mi ni mum
The reasoning here is that theénigh interest is eating away at payments, othat by paying the largest

debt it will take some of the burden off Again, depending on where you find data the average

American has $8,000 in credit card debt, oakenperhousehol d and including au

$16,000. If we add in mortgages, the data suggests about $43,000every person

Do either of these sound familiatto you? Not to me.For a short period oftime, | was able to save

6% but needed to backhat down to 4% very soon after. Then | had to eliminate automatic saving,

and then restarted when things got little better . We try, and then we try againl believeit * s r eal |y
tough today to save, pay offlebt, and live month to month As far asthe averagedebt numbers gq |

checked a few other sources antbund another set of data that saigheople average about $1,250 in

credit card debt. There's a big differenghte bet we

Looking at the mortgage datafi a | arge number of (tHe ownersowamose under
than the house is worth), then what is the house worth? Using the data aboythe average house

would have to be worth less than $43,00@0. A few other sources set the average mortgage at
$172,000and$ 181, 225. Again, this amsorehelievableneambarg think but at
it was Mark Twain who said “there are | ies, damn

depending on the source.

As far as the averagesgb, don’t fall into any of these categor
So what do we do with the data? The answer is nothing. We tend to look at statistics as a barometer,

as a point of referenceda s ee how we’re doing. We compare our p
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say we're doing ok, or not Istbe ngtional dverage fopsavingid t o t |
5%, and we’ ' re saving 2 %,Ilftha mationatavesage i0% (atichonadam us f e
source suggested), how does that make us feel about our saving? If tneerage American has

$8,000.00in credit card debt, and | only have $4,500, should | be feeling good about that? Even if |

can’t mak e This cothgaratime andlyssis not what we should be doing.

How we approach debt and saving should be personal and practicdi has to take intoaccount our
individual earnings, current sitwuation, goal s, an
but there are“ me s i z epraticat considetatioris. Paying off debt and saving are certainly at

odds, and apayment on debt is required...asavings deposit is not $ how do we have the best of

both worl ds? Let’sLeses asay mp | bwoelnytdbis are credie bt s . T
cards and one is a car loan (shown below). My credit card balances are $1,250.00 and $8,000, and

the car loan has an outstanding balance of $18,000.00. The Payment Amounts shown are the
minimum payments for the credit card, and rguired payment for the car loan. My total required

monthly payment for all three is $493.21, and my total debt is $27,250.00. We can see by the chart

that paying the minimum payments over a full year barely makes a dent in the debt.

" Jazer 100 - [ Debt Elimination]

File Window Budget Debt Finance Manager Investment Analysis Retirement  Utilities Help -|&|x

= = = = = = = = = = = =
Debt Title Int. Rate %  Pymnt Amt Balance  Apr2013 May2013  Jun 2013 ul2013 Aug2013 Sep2013  Oct2013  Nov20 Dec2013  Jan2014 Feb2014 Mar2014
* Credit Card #1 12.0% $14.15  $1,250.00 $1,248.35 $1,246.68  $1,245.00 $1,243.30 $1,241.58 $1,239.85 $1,238.10 $1,236.33 $1,234.54 $1,232.74  $1,230.91 $1,229.07
* Credit Card #2 19.0% $131.07 $8,000.00 $7,995.60 $7,991.12 $7,986.58 $7,981.96 $7,977.28 $7,972.51 $7,967.67 $7,962.76 $7,957.77 $7,952.69 $7,947.54 $7,942.31
Car Loan 6.0% $347.99 $18,000.00 $17,742.01 $17,482.73 $17,222.15 $16,960.27 $16,697.09 $16,432.58 $16,166.75 $15,899.60 $15,631.11 $15,361.27 $15,090.09 $14,817.55
* 0.0% $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
* 0.0% $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
0.0% $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
* 0.0% $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
* 0.0% $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
* 0.0% $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
= 0.0% $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
Total $493.21 $27,250.00 $26,985.96 $26,720.54 $26,453.73 $26,185.54 $25,915.94 $25,644.94 $25,372.53 $25,098.68 $24,823.41 $24,546.70 $24,268.54 $23,988.93

<lm »

L et ' ¢hat atdhg same timemy savings account balance is $5,000.00, and | sa&200.00 each

month through payroll deduction. My savings account pays an annual interest rate of 0.5%o0 at
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the end of a year, | would have $7,430.56 IR Sywro [EE——

in my account. Most of this isbecauseof File Window Budget Debt Finance Manager
my monthly deposits ($2,400.00), and
then added to thatthe $30.57 that Iwould

receive in interest. | t s obvi o e e o

Period (Years) 1

paying more intereston my debtt h a n Monthly Deposit $200.00

Investment Analysis  Retirement Utilities Help

Compound Interest

earning on my savings but | et Amount Deposited §2,400.00

how much. Interest Received £30.57

Total Value at End £7,430.56

Referring back to the debtwindow above,

by paying the minimum payment ($14.15)

on Credit Card #1, at the end obne year |
have reduced the balance by $20.93,
although the total amount that Ipaid was $169.80. So $148.9Was paid ininterest. For Credit Card

#2, attheend ofayear | ' ve r e du c ejdst35n69,altbcudhdhe ol arhoynt that |

paid was$1,572.84. So $1,515.1%as simply interest that | paid. For the auto loan, at the end o&

yeart he bal ance has been r eduadothl 0b$4,1795.88. Il BIR cagde5 , and
$1,093.43 was interestThe total reduction in debt for all three debts combined is $3,261.07, it has

cost me $5,918.52, and the total intereghat | paid is $2,757.55.S0 the bottom line is thatl earned

$30.57 interest on my saungs, but | paid out $2,757.55 in interest on my debt.need to make an

adjustment somewhere

| decide tocut back onsaving and reduce my debt. | need to continue to build up an emergency fund

so |11 c unthalf nmgteacs & stoppirg it all togeher. This will give mean additional

$100.00 each monthto apply to debt. My g o al is reduce the amount of
interest. Thec hange i n the amoun®,202.Hhdftwerd still savind$200.80aav i ng i
month, the balanceat the end of a year would have been$7,430.56 Now saving $100.00 a month

the balance wil be $6,227.81 The interest earned is $27.81 instead of $30.5@r just $2.76 less

Now |l et’'s see what the $100.00 that would have go

| decide to apply the additional $100.00 each montto Credit Card #2, which is the higher interest
rate credit card. Instead of paying $131.07 each month, | pay $231.0Recalling the first set of
numbers for Credit ofyeard hatl paidé1,572.84, end eeduted thé balance
by just $57.69. The difference of $1,515.15 was the interest. By adding $100.00 to the payment,

again after one year, the balance at the end ofie year is now $6,632.09.
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Jazer 100 - [ Debt Elimination] — o[ I

File Window Budget Debt Finance Manager Investment Analysis Retirement  Utilities Help

Debt Title Int.Rate% PymntAmt  Balance Apr2013 May2013  Jun2013  Jul2013  Aug2013 Sep2013  Oct2013  Nov2013  Dec2013  Jan2014  Feb2014  Mar 2014 I
% Credit Card #1 12.0% $14.15  $1,250.00 $1,24835 $1,246.68  $1,245.00 $1,24330 $1,241.58 $1,239.85 $1,238.10 $1,236.33 $1,23454  $1,23274 5123091  $1,220.07
% Credit Card #2 19.0%  $231.07 $8,000.00 $7,895.60 $7,780.54 $7,691.80 $7,572.36 $7,461.19 $7,348.25 $7,233.53 57,1699 $6,998.61 56,878.35 $6756.19  $6,632.09
Car Loan 6.0%  $347.99 $18,000.00 $17,742.01 $17,482.73 $17,222.15 $16,960.27 $16,697.09 $16,432.58 $16,166.75 $15809.60 $15,631.11 $15,361.27 $15,000.00 $14,817.55
* 0.0% $0.00 £0.00 $0.00 $0.00 £0.00 $0.00 $0.00 £0.00 $0.00 £0.00 £0.00 $0.00 £0.00 $0.00
* 0.0% $0.00 £0.00 $0.00 $0.00 £0.00 $0.00 $0.00 $0.00 $0.00 £0.00 $0.00 $0.00 £0.00 $0.00
0.0% $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
* 0.0% $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
* 0.0% $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
* 0.0% $0.00 £0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 £0.00 $0.00
* 0.0% $0.00 £0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 £0.00 $0.00
I l
Total $503.21 $27,250.00 $26,885.06 $26,518.95 $26,148.06 $25775.94 $25390.86 $25,020.68 £24,638.38 $24,252.02 $23,864.26 $23,472.36 $23,077.10 $22,678.71
< [un) 2
— =

The balance was reduced by$1,367.91. | paid in a total of $2,772.84, and the interest portion was

$1,404.93.This is an improvement, but not as dramatic as | had hoped. What happened?

Here are the numbers (bel ow), and | "ve added a t
another $100.00 per month and make it $331.07. The differences in total interest paid (bottom
row) really aren’t that significant. This is caus
This highlights the importance of eliminating high interest debtand staying away from it. Any

financial plan that includes eliminating this high interest debt quickly would be a prudent plan.

Credit Card #2 Data After 1 Year - Different Payment Amounts:

Payment $131.07 Payment $231.07 Payment $331.07

Starting Balance $8,000.00 $8,000.00 $8,000.00
Ending Balance $7,942.31 $6,632.09 $5,321.87
Difference $57.69 $1,367.91 $2,678.13
Total Paid In $1,572.84 $2,772.84 $3,972.84

Total Interest $1,515.15 $1,404.93 $1294.71
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If | calculatethe life of the debtu n t i |

in full

($131.07) as shown to the right we can see

using the minimum payment of

that the total interest paid in would be
$20,311.27 It will also take 18 years to

eliminate the debt. (Credit card companies

are now required to show on our nonthly

statements how long it would take to pay off

a balance if we just pay the minimum

payment).Thi s j us

be another way...a n d

t w o B hatk to

there i s.

File

Window
Investment Analysis

Budget Debt
Retirement

Amount Paid-In

Loan Amount
Interest Rate
Period (Years)
Payment Monthly

Total Interest Paid

Total Amount Paid-In

Finance Manager

Utilities Help

$8,000.00
19.000%
18.0
$131.07

$20,311.27

$28,311.27

Changing the interest rateon the debt wouldhave a dramatc effect onboth the life of the debt, and

the total interest paid. If | can reduce the interest rate, | would see more of the payment go toward

paying off t

he debt ,

and | e

S S

going

the interest rate to 12%, ard adjust the Period in yearsso that themonthly payment is about what

it was in the first scenario.

Shown to the right is the

new calculation.

Now the debtis paid off in 8 years, and the
total interest paid is $4,482.18. This is a
difference of ($20,311.27 - $4,482.18 =
$15,829.09 in interest paid on the same

debt. The 7% lower interest rate made a

huge difference in total interest paid. So

how do | lower the interest rate? There are

a couple of options. | could call the credit

card company and ask (tfs actually works

sometimes), or | could transfer the balance

File  Window

Investment Analysis

Budget Debt
Retirement

Amount Paid-In

Loan

Amount

Interest Rate
Period (Years)

Faym

Total

Total

ent Monthly

Interest Paid

Amount Paid-In

Utilities

Finance Manager
Help

$8,000.00
12.000%
8.0
$130.02

$4,482.18

$12,482.18

to a credit card with a lower interest rate. Thiss one reasornwhy balance transfersare so popular.

Credit Card companies offer transferopportunities on aregularbasi s ..

.J wB eye d¢nele p

transaction fees.Often the transaction fee is 4% of the totafransfer. Using the $8,000 balance in

the scenario, a 4% transaction fee would be $320.00. This gets added to the balance, so the new

balance would be $8,320.00 at the new rate. It pays to ep and review the offers that come in the

mail, because eery once in a while | see an offer with no transaction fedn these cases the lower
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rate usually has an expiration date, so read carefully. Very oftéine lower interest rate expires after

a year and in some cases after a few months. Then

In the scenario above, a balance transfer with no transaction fee that moves the balance from a
credit card charging 19% to a card charging 12% would save $15,829. over the life of the debt.
The life of the debt would also change from 18 years to 8 yeaihe monthly payment could remain
about the sameas when | started and Icould continue to save $200.00 a monthrhis is a step in the
right direction, and if | were to make both adjustments(reducing savings and ovetpaying on the

credit card) the situation gets even better.

Let ' s agairyl decrbaaet my monthly saving from $200.00 to $100.00, and apply the $100.00
to the $8,000.00credit card debt. | alsotransfer the $8,000.00 balance to a credit card charging
12%. In the original debt and payment scenario, the balance afteone year would have been
$7942.31. Transferring the balance to a lower interest card and increasing the payment amount (as
shown belbw) would result in an endof-year balance of $6,08405. Almost $2000.00 of the debt

would be eliminated.

File Window Budget Debt Finance Manager Investment Analysis Retirement  Utilities Hel

Debt Title Inb.Rate% PymntAmt  Balance  Apr2013 May2013  Jun2013  Jul2013 Aug2013 Sep2013  QOct2013  Nov2013 Dec2013  Jan2014  Feb2014  Mar 2014 |
* Credit Card #1 12.0% $14.15  $1,250.00 $1,248.35 $1,246.68 $1,245.00 $1,243.30 $1,241.58 $1,239.85 $1,238.10 $1.236.33 $1,23.54 5123274  $1,230.91  $1,229.07
* Credit Card #2 12.0% 523107 $8,000.00 $7.848.03 $7,696.35 $7542.24 $7,386.60 §7,220.30 §7,070.62 $6,910.25 $6,748.28 $6,584.70 $6,410.47 $6,252.60 $6,084.05
Car Loan 6.0%  $347.99 $18000.00 $17.742.01 $17,482.73 $17,222.15 $16,960.27 $16,697.09 $16,432.58 $16,166.75 $15899.60 $15631.11 $15361.27 $15090.09 $14,817.55
* 0.0% 50.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 50.00 $0.00 $0.00 $0.00 $0.00 50.00
* 0.0% 50.00 $0.00 50.00 $0.00 $0.00 50.00 $0.00 50.00 50.00 $0.00 50.00 $0.00 $0.00 50.00
0.0% 50.00 $0.00 50.00 $0.00 $0.00 50.00 $0.00 50.00 50.00 $0.00 50.00 $0.00 $0.00 50.00
* 0.0% 50.00 $0.00 50.00 $0.00 $0.00 50.00 $0.00 50.00 50.00 $0.00 50.00 $0.00 $0.00 50.00
* 0.0% 50.00 $0.00 50.00 $0.00 $0.00 50.00 $0.00 50.00 50.00 $0.00 50.00 $0.00 $0.00 50.00
* 0.0% $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
* 0.0% $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
I |
Total $503.21 $27,250.00 $26,830.20 $26,425.76 $26,000.40 $25,590.17 $25168.06 $24,743.05 $24,315.10 $23,884.21 $23,450.34 $23,013.48 $22,573.60 $22,130.68
<« [ 3
| - |

Calculating and comparing the options gives us a better way to choose the one that provides the

most benefit. Below is the sideby-side data forthe three possible plans.
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Side-by-side Scenario Comparison after 1 Year:

Payment $131.07

Payment $131.07

Payment $231.07

At 19% Interest At 12% Interest At 12% Interest
Starting Balance $8,000.00 $8,000.00 $8,000.00
Ending Balance $7,942.31 $7,352.30 $6,084.05
Difference $57.69 $647.70 $1,915.95
Total Paid In $1,572.84 $1572.84 $2,772.84
Total Interest $1,515.15 $925.14 $856.89
The example highlights that there ar eSolstionstbat i ons t

require someanalysisand choices but once planned out and acted on, can have a major impact on

our financial situation.

Email comments to:articles@jazersolutions.can
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